SA: AR =X

H & 0l & AHS B Ml A

Hu: ABI=X KR (ASI=X/FHHET )

Selr ARISXIEH & X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Arel S X110t 64,900,029 62,382,8% 2,517,134
= 39,359,006
[ 1,666,908
= 5,033,158
Al 18,840,957
ABISR K& (ARISR/FHAHEXR) 564,150 717,891 A163,741
< 41,260
Al 512,890
AIEXEH & X 460,050 323,950 136,100
= 14,380
Al 445,670
FOIAHIA 22 21,960 21,960
201 Ler=23 | 6.660 6.660
01 At2teltl 6,660 6,660
Odgt+==H| 1,660
oFQUMHIA MUK (SR, MIISIE
<01) 80,0008 *22 160
odEANAY & NF=X E22 M
10,0003 100 1,000
ofigh FUAMHIA AIE Al S+% &
sS=2= MH 500,000& 12 500
O=2g=g 2,500
oF0AHIA WS 2ed HAL =&
250,000 x3H #2323 1,500
oNg=AAY 2+ 88 &L
100,000& %10 1,000
Ogxz 2,500
oQi2h =OAHIA A3E M X2
2,500,000& %12 2,500
202 04l 6,800 6.800
01 SLHoIH 6,800 6,800
OAt2I= Al 2l eliAL 4]
85,0003 »25 & #23 4,250
OFPABIA HEFN WF
85,0003 * 10232 2,550
301 22N 2,700 2,700
11 AALAEIXIES 2,700 2,700
Oglzt =PIMHIA A3ds F0 A &) 24
18,000 150 «12] 2,700
303 Za= 5,800 5,800
01 Za= 5,800 5,800
OXNESAANY =0 24 SHS B4 5,800
oz et 1,000,000 24 EHS 2,000
o = ¢ 700,000 2SS 1,400
o d o 500,000 +3)ESHS 1,500




FA ARSI
B A=A K (ASI= X /H ST )
CHelr AIRSXEH & X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| o= 30,0002 <30 S8 S 900
SXAIR R 7,790 7,790
202 04t 1,530 1,530
01 =LHOHI 1,530 1,530
OS AR 28 "X HXI0H
85,0002 x6H 3! 1,530
203 =] 5,400 5,400
03 A=A 2= 5,400 5,400
OAIZ| =l 22l 5,400,000 * 14 5,400
301 EtE NS 860 860
11 dALEEIXIE S 860 860
OSXAIM W28 28 & 24 860
oA HEX| HXI0
50,0003 x5 2 500
SAIBINY HTDY EAT} AH| BA
10,0003 6 *63] 360
ARISK SAEG MHA 430,300 294,200 136,100
= 14,380
Al 415,920
307 elztol & 430,300 294,200 136,100
= 14,380
Al 415,920
06 28= 8,600 0 8,600
OAtZISXIAIE SAHRL a2 =E KNI
8,600,000 * 14 8,600
== 4,300
Al 4,300
11 AMEISXAEEES 421,700 294,200 127,500
OABISXIAE BAK B2DS| N
33,600,000 x 14 33,600
= 10,080
Al 23,520
OAMZBIEXIAIE SALXF 0S4l X2 (X
H) 5,600,000 * 14 5,600
OAI2ISXIAIE SAHRG &S SKIEUE
A& 150,000& %2, 550 382,500
Mel+= 94,100 393,941 A299,841
= 26,880
Al 67,220
SIAtE R R 4,500 4,500
301 EtE2 NS 4,500 4,500
03 A2 H A0S (XIS THH) 4,500 4,500
OSJAre A X8 S 150,000 x 15 *23] 4,500
3 &d N2 89,600 95,500 /5,900




SA: AR =X
M ABISK K (MEISX]/HLHEXR)

Rl Mol = (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 26,880
Al 62,720
301 EtE NS 89,600 95,500 25,900
= 26,880
Al 62,720
14 DBt 2 a=S 89,600 95,500 /5,900
osgddbls N 89,600,000 *14] 89,600
= 26,880
Al 62,720
SBE(MEI=EX/EE) 4,628,859 4,131,703 497,156
= 563,010
Al 4,065,849
=28 4,628,859 4,131,703 497,156
= 563,010
Al 4,065,849
=)IR3EN4 S X 100,000 92,000 8,000
=S 3,450
Al 96,550
301 EtE NS 58,500 60,450 1,950
03 ARSI 2 H A =TS (XL THH) 58,500 58,500 0
O=IIR3A XY S(4, =4)
50,0002 *500E <22 50,000
O3.12 At &4 SERSA R /2 2
20,0003 %50 1,000
OSERSA I (agd, 2=52) Xd
S 150,000 x25EH *23] 7,500
307 212+01™ 41,500 31,550 9,950
[ 3,450
Al 38,050
01 22X+ &I 11,500 11,500 0
O=gx3k & 7= 2/gH| X2
11,500,000& » 14 11,500
= 3,450
Al 8,050
05 212t =S 30,000 20,000 10,000
OS8R 2= & dTAY 30,000
oSEREN €2 & dSAL
20,000,000 *14{ 20,000
o= SEE2sS Azd 29|
10,000,000& » 14 10,000
=t2EU A X2 4,028,160 3,604,200 423,960
=S 559,560
Al 3,468,600
301 Eet2 NS 4,028,160 3,604,200 423,960
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SA: ABI=XID
M BE(MIISEX/EE)
=9 SIS (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SISAIE 2| 151,883 26,353 125,530
101 @124H| 11,083 10,553 530
M ORNZZE2NSE S 11,083 10,553 530
OBZEAL BZFH HEXY oY
76,9602 x0EH x4 2 +43| 11,083
201 ger=3| 15,000 15,000
02 S3=4gHl 15,000 15,000
OAIZZ&Hl St 15,000
cEHBAL RXZ4H
15,000,000 * 14| 15,000
202 04l 800 800
01 =LHAHI 800 800
OslEAld 8 34
20,0003 2H*2&x 102 800
401 AlZHIZ SO 125,000 125,000
01 A28l 124,100 124,100
OgL=E2SIIEE S8 =0t A8
125,000,000 *99.28/100 124,100
03 Al 20HHI 900 0 900
Ogd=e=sII8E 3584 =t A
125,000,000& *0.72/100 900
6.25 M A} 12,000 15,000 /3,000
201 er23| 10,000 15,000 /5,000
03 A= I 10,000 15,000 25,000
06.258d A 10,000,000 * 14! 10,000
301 EtE NS 2,000 2,000
11 AALRHIXIRS 2,000 2,000
OB. 258 AL SALKHEHR) 24
2,000,000& *14] 2,000
S= 222 € =IIR3A A dA 43,500 43,500 0
307 elztol & 43,500 43,500
04 CIZHHAMAMH 2 & 43,500 43,500
O5= 229 € SRS LA
H) 43,500,000 * 14 43,500
Hetel= 6.25 X733 Atal K& 14,800 13,000 1,800
307 @12t01 & 14,800 13,000 1,800
03 YIAHHEE 22X 14,800 13,000 1,800
06.25 FH 7Sl 0=AlXl2 2]
14,800, 0008 %14l 14,800
6.25 M RIBX2l O==AlXIE H2A 2|3 2,300 2,300
307 glztol & 2,300 2,300
04 CIZHHAMAIH 2 & 2,300 2,300
06.25 BHFEA2 H==AlXl2 2 ZO|0H
2 2,300,000 %14 2,300
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FA ASIS
BH: RZA 2O (LNDIYH/AHE)
chelr MRIZAL 22 2 A" (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 8,205 8,205
01 2LHoIH 8,205 8,206
OS2 Mzl NHASAH MOILE & /S
85,0002 32 %22 #63] 3,060
ONEZAT 2 s Y 48 &7 2ol
20,0002 x2H 42 x 122 1,920
0S4 NASAHE 2 48
85,0003 x3EH *5I4 A 1,275
OXESAH ZUIUIOIE 2L 048]
20,0002 4631« 124 B 1,440
OXFIZ A RLILIOIE] 212I0H]
85,0002 +62] 510
301 22N = 35,000 356,000
11 AALEEIXIRE S 27,000 27,000
OXESA NEXHEH) s L AoiL &
A AHl 24 50,0002 20 & *22] 2,000
O+ NESAH dA8 2% HE &dl 24
25,000,000 *14] 25,000
14 JIEt2a3 8,000 8,000 0
ONESAA 25 & 24
10,0002 *800 8,000
307 glztol & 3,500 3,500
ERIE=YOETEES 3,000 3,000
ORI 4T ZAIZE N
3,000,000 *14] 3,000
06 28= 500 500 0
OXHESAAE (&Lt 2E &
500,000 *14] 500
&= S ANFSAEE Oty MdlA XI& 20,416 20,416 0
= 10,208
Al 10,208
307 glztol & 20,416 20,416 0
= 10,208
Al 10,208
06 2= 20,416 20,416 0
OXESAA 282 20,416,000& x14] 20,416
= 10,208
Al 10,208
et MM TS At d=82ls Sl XI& 60,000 0 60,000
== 30,000
Al 30,000
307 212+01& 60,000 0 60,000
< 30,000
Al 30,000
04 QIZHHAMAIRH 2 X 60,000 0 60,000




FA ASIS
B NASA 2 (UNDDHE/LUHE)
chelr MRIZAL 22 2 A" (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUStH A IIAIS ARl 8=82l3 &3l XI&H
60,000,000& » 14 60,000
= 30,000
Al 30,000
HOHe Lis2l AR 23t 24t 110,874 80,100 30,774
== 12,420
Al 98,454
ANEASAH T2 29 110,874 80,100 30,774
[ 12,420
Al 98,454
201 er23 | 22,400 21,400 1,000
01 At2t2ltl 11,400 10,400 1,000
SEILIRS=Y[ 10,800
SXIRZAL 2 B0t HIA
1,000,0002 %14 1,000
oNSA NEE w M
4,000& *1,000% 4,000
oA AUSH 23
300,000& *102] 3,000
©1365 A SAH Ed0IZBH ! Ot =g
1,000,0002 %14 1,000
oltESAES UC 832 2222 M
1,800,000 *14] 1,800
O=2g=+¢ 600
oNESAMES UC B2 At==E
200,000 3 600
03 &A=& 11,000 11,000 0
OXrESAtE2t AL 2
11,000,000 * 14 11,000
206 M=Hl 64,674 44,900 19,774
= 12,420
Al 52,254
01 MHZH| 64,674 44,900 19,774
OXNESAIE 28 243 A& 64,674
oHESAH 28 gdat N3
41,410,000 *14] 41,410
s 12,420
Al 28,990
oXASA S4s T2 (32) 2E M
=da] 800,000 100 2 8,000
oA SAtEZ 23 2 S|
3,000,000& %14 3,000
oFaAd NHESAH 22&E0l s =23 M
=l 1,600,0002 *22] 3,200




FA ASIS
B NASA 2 (UNDDHE/LUHE)
2l EOI9 Lisol ARl 23 St (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o 1365 2 SAF llOIZH! OLAH =2 M
20193 SHWRA Fsa)
9,064,000 *14! 9,064
301 EtE N = 23,800 13,800 10,000
11 #AIAHIXIZ = 1,000 1,000 0
OMAKXE A SAE OZHHIDI ZAl==E
1,000,0002 %12 1,000
4 JIE2 8= 22,800 12,800 10,000
O 2dl ArdlUsE A SAHAL 2H24
10,0002 +402* 102] 4,000
OBAW TRABAF 22AF0| Abl2a
10,0002 %102 %102 1,000
OXESAES UC 2 Alats
2,800,000 *14] 2,800
ORO0Pl= NHASAH 1S A
50,000 *1002] 5,000
OO0iL=s=Ll 2244 TS 222 29(2
019 SHMSA| FstToH)
2,000,000 %53 10,000
MASE deoty XA (AISK/ I Z4E2E) 54,297,891 52,344,362 1,953,529
= 30,317,768
[ 1,470,906
= 4,359,919
Al 9,149,298
NASE J =Mty 2el 45,146,937 43,387,838 1,759,099
= 38,823,117
= 169,860
= 3,189,180
Al 2,964,780
A=A 37,198,054 34,764,077 2,433,977
= 33,478,249
= 2,603,864
Al 1,115,941
301 LEtE N = 37,198,054 34,764,077 2,433,977
= 33,478,249
& 2,603,864
Al 1,115,941
01 AR E2EHSFS(RRNEERTHE) 37,198,054 34,764,077 2,433,977
OdAI= 37,198,064,000& x 14 37,198,054
= 33,478,249
[ 2,603,864
Al 1,115,941
[ENESPNI=10 321,977 280,303 41,674
= 289,780
S 22,538




SA: MBS
M NASES M2l NJ(MIASX/OIZEEH)
Hel: MASE JIZMEory 2| EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 9,659
301 EtE NS 321,977 280,303 41,674
= 289,780
= 22,538
Al 9,659
01 Al EE AT Z(2DEXR) 321,977 280,303 41,674
Odfiat - FH=N 321,977,000& *14] 321,977
= 289,780
S 22,538
Al 9,659
&=l 268,000 268,000 0
= 268,000
201 =3 268,000 268,000 0
= 268,000
01 AtR2t2|HI 268,000 268,000 0
OZF = =il 268,000,000 *14] 268,000
= 268,000
WS (SHETZAY) 23,060 23,060
308 AXIMSO0IA 23,060 23,060
08 WsJ|20etEx 23,060 23,060
(@NE=y=10;] 23,060,000 *14] 23,060
22sAUE =22 25 NS (HELSSH) 47,850 44,991 2,859
= 38,280
= 2,87
Al 6,69
307 @120l & 47,850 44,991 2,859
= 38,280
= 2,87
Al 6.699
11 AMEISXAIEEXS 47,850 44,991 2,859
OUI I =S s
47,850,000 * 14 47,850
= 38,280
= 2,87
Al 6,699
2Es8A= =S 22 X (FLIISB) 315,604 576,844 A261,190
= 252,523
= 18,939
Al 44,192
307 elzto| & 315,654 576,844 A261,190
= 252,523
[ 18,939
Al 44,192




SA ARSI
M NASES M2l NJ(MIASX/OIZEEH)
el MASE JIZMEHY &g (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
11 AR ZXAIE 2 X 315,654 576,844 A261,190
OslIISSE | A 33,823,000% 14! 33,823
= 27,058
< 2,029
Al 4,736
OBIYIISEH || A
143,200,000 *14] 143,200
= 114,560
[ 8,592
Al 20,048
OFH YIS SHAL
18,031,000& » 14 18,031
= 14,425
< 1,082
Al 2,524
OFENFAH AL 120,600,000 x 14! 120,600
= 96,480
< 7,236
Al 16,884
2EsUU= =S 22 X () 305,925 279,712 26,213
= 244,739
< 18,356
Al 42,830
307 212t01™ 305,925 279,712 26,213
= 244,739
== 18,35
Al 42,830
11 ARIZEXAIEE X 305,925 279,712 26,213
O3 M=AHZ | A
35,533,000 * 14| 35,533
= 28,426
s 2,132
Al 4,975
O3 L M=HZH I AL
43,803,000& x14] 43,803
= 35,042
S 2,628
Al 6,133
OFHAHLMEHE(XHARI0I5H At
25,224,000 & x 14! 25,224
= 20,179
[ 1,514
Al 3,531
OFEUHLMEHE(IHARAZD) At
201,365,000 x 14 201,365




SA: MBS
M NASES M2l NJ(MIASX/OIZEEH)
Celr MASS JI=MEory 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 161,092
=S 12,082
Al 28,191
XEAE(22) 3,114,956 3,114,956 0
= 2,803,460
S 202,500
Al 108,996
101 21AH| 372,556 472,5% 100,000
= 335,300
= 10,532
Al 26,724
04 JIZtNZ2 2N S+ 372,556 472,5% 100,000
OXEZZAE WL 212
372,556,000 14] 372,556
= 335,300
= 10,532
Al 26,724
201 fet= 3| 8,000 8,000 0
= 7,200
= 560
Al 240
01 AtR2te|Hl 8,000 8,000 0
OXEZZ Mg 8,000,000 14| 8,000
= 7,200
= 560
Al 240
202 04t 14,400 14,400 0
= 12,960
& 1,008
Al 432
01 =LHNHI 14,400 14,400 0
OXHA 04|
20,0002 x4 x153|x 12 14,400
= 12,960
< 1,008
Al 432
206 MH=Hl 16,000 16,000 0
= 14,400
< 1,120
Al 480
01 MHZH| 16,000 16,000 0
OXHE A X e 16,000,000 *13] 16,000
= 14,400




SA ARSI
M NASES M2l NJ(MIASX/OIZEEH)
Ol MASS I ZMEOHE 22 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,120
Al 480
301 EtE N = 3,600 3,600 0
= 3,240
== 252
Al 108
11 dALEEIXIE S 3,600 3,600 0
OXEZZAY A2 Q&K ASH Alb|
2 00,0002 *18% 3,600
= 3,240
< 252
Al 108
307 elzto| & 2,700,400 2,600,400 100,000
= 2,430,360
< 189,028
Al 81,012
05 2IZtRAE = 2,700,000 2,600,000 100,000
OXISX2HEE 222 ASAY
1,350, 000,000 #20H 2 2,700,000
= 2,430,000
< 189,000
Al 81,000
6 2= 400 400 0
O At & 282
400,000& *14] 400
= 360
< 28
Al 12
NAS =0 =gAL2EE X 540,000 507,600 32,400
307 elztol & 540,000 507,600 32,400
01 =22 540,000 507,600 32,400
OMaAS U IUALYEEE A&
10,0002 *4, 5004 C = 12 540,000
NASE 42 Xd 79,100 79,100
301 EtE NS 79,100 79,100
02 NRI2HHSHS(HAAS, NLHE) 79,100 79,100
OMEIETAIE 2I2(4, =4) 29,100
oMt 1021012 AlM
150,000 *250 A +23] 7,500
oMEX 10~5001018+ Ald
250,000 27 %23 13,500
oMEHA} 5001014 Al
450,000 *Q I 2=+23] 8,100
OMASES HE23H| X2 50,000




A ARRISXID
. HASE MEHE X2 (ASSX/ I ZMEEE)
Ol MASS I ZMEOHE 22 (CH9: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
T FIB(H, F4)
50,0003 #5000t 2 *23 50,000
SEEAL & 2l 29,290 20,110 9,180
201 Ler2 | 26,890 17,710 9,180
02 SE=29| 26,890 17,710 9,180
O3z £ HAl 26,890
oSXUAN SN 2E=Z ZE(e8R
o MS2XH 2 6,890,000 * 14 26,890
202 Ot 2,400 2,400
01 =WO4bI 2,400 2,400
OSXHAL H2(EAXN)
50,000 x4+ 123] 2,400
212 =X & 1,492,865 1,411,220 81,645
= 1,194,292
& 89,572
Al 209,001
301 LPENZ 1,492,865 1,411,220 81,645
= 1,194,292
T 89,572
Al 209,001
01 A2 & X Z2(2REETA) 1,492,865 1,411,220 81,645
O2Z2=XKXI& 1,492,865,000 3 14! 1,492,865
= 1,194,292
= 89,572
Al 209,001
A37S MEotEIE R 25,000 25,000 0
301 LPENSZ 25,000 25,000
03 MBI EE A 62 (RILTHE) 25,000 25,000
02275 MBOIEIE
10,000,000& 14! 10,000
O sl s 15,000,000 14| 15,000
SeAd2el XJ(EX) 28,275 28,275 0
s 11,100
& 2,610
Al 14,565
201 L2 | 5,160 5,160 0
= 2,580
& 774
Al 1,806
01 AtR2telt] 5,160 5,160 0
OgEt=2H| 4,560
oSEAAIZCIAL LIQIR BSE& (2|
120,000 *3H 360
s 180




SA: MBS
M NASES M2l NJ(MIASX/OIZEEH)
Celr MASS JI=MEory 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 54
Al 126
osBAMZ B2 U 510 29 A|
4,200,000 *14] 4,200
[ 2,100
S 630
Al 1,470
Osgay 600
SSat Azl 510l (MANSE
100,000 38 »23] 600
[ 300
S 0
Al 210
202 04| 13,275 13,275 0
[ 3,600
= 360
Al 9,315
01 =LHOHI 13,275 13,275 0
OSEAtAIZelIAL 2HEE 0]
12,000,000 * 14! 12,000
[ 3,600
= 360
Al 8,040
OSEAtAIZCIAL 22/=E 0]
1,275,000& x14] 1,275
301 2P EN= 9,840 9,840 0
= 4,920
=S 1,476
Al 3,444
01 Al EE A S(FREXH) 9,840 9,840 0
OSEAtdl2tel Argddl 492,000 x20H 9,840
[ 4,920
= 1,476
Al 3,444
H0Pts EASKIAHIA 23,380 23,380 0
201 et 3| 20,500 20,500
01 At22t2l] 20,500 20,500
OX0ts 2ASKIMHIA A M2
5,000,000 * 14 5,000
OOt BASAAHIA 22, 28 S A
o 2,000,000 %14 2,000
OXOPt=EAHSNAMHIA OIES=XAHE A
8 2l 500,000& *27H A 13,500
202 04| 2,880 2,880
01 =LHO LI 2,880 2,880




SA ARSI
M HASS MBI NV(MISNOIZLEEE)
Bel: NASS JI=MEHH 2JEI (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSHE RODIs SASAALIL A
20,0003 «32H 42 x 122 2,880
SHs 0tk SAAEIL 364,534 354,780 9,754
101 @1A4H| 292,084 282,330 9,754
04 JIZtNZ22 XS 2+ 292,084 282,330 9,7%4
O8gs SXZCIUI0IE 292,084
oolsel 9,620 #4A| 2H52 52724 %385 197,403
oxFay
9,620 *4A| 2hx 12427 H 383 39,481
oMEBAD BELY
7603 *4A| 2+ 62 27 H*385 18,715
oWt E 9,620 x4 A| 2Hx27 H+8E 8,312
oMNBIEER 28,173,000 * 14| 28,173
202 04l 4,950 4,950
01 2LHoIH 4,950 4,950
O0ISd S bt==Aell JdaXl Ast o1&
S22 ol 110,000& x99 #53] 4,950
301 LEetE2 N = 66,000 66,000
11 #AIAHIXIE S 66,000 66,000
O0lEE S Ot==Xeld &8 Ast
66,000,000 * 14! 66,000
307 elztol & 1,500 1,500
06 2= 1,500 1,500
OSZX A8t BHT MHZEE
1,500,000 *14] 1,500
SHS XEE SEAMHIA 226,800 226,800 0
) 158,760
= 6,804
Al 61,236
201 er23| 113,400 113,400 0
= 79,380
[ 3,402
Al 30,618
01 At2t2lt] 113,400 113,400 0
OSHs XEE SEAHIA 23
4,200,000 2790 2 113,400
= 79,380
== 3,402
Al 30,618
301 EtE NS 113,400 113,400 0
= 79,380
== 3,402
Al 30,618
01 ARSI 2E AL S(SREXMH) 113,400 113,400 0




SA ARSI
Hu: HASS MEOF XA(MESX/IIZMSSE)
el MASE JIZMEHY &g (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS9s %& SEAll~ =
4,200,000 2790 2 113,400
= 79,380
[ 3,402
Al 30,618
ARI2HEE 2el 5,130 5,130 0
201 Ler2&| 3,600 3,600
01 At2teltl 3,600 3,600
Odgt+==H| 3,000
oMNAZESH A SHHE ME
40021%5,00021 2,000
o=xags 2 50,0002 %128 600
CABEFTOLY AAY DS 29
200,000 *23] 400
Oo=2g=¢g 600
CAIEHSUHEE AAHE DF Al
300,000 1 =23 600
202 04l 1,530 1,530
01 2LHoIHI 1,530 1,530
OABI2I20! HI| HOIZA 2 DS
&4 85,0002 x0H +23] 1,530
fclsUl HZAL SADISH 29 229,500 229,500 0
= 68,850
Al 160,650
201 fer= 3| 22,950 22,950 0
== 6.885
Al 16,065
01 AtR2telbl 22,950 22,950 0
O=cISUlaiZA =XDISU 24
850,000%279H 2 22,950
== 6,885
Al 16,065
301 LEtE N = 206,550 206,550 0
= 61,965
Al 144,585
03 A2 E A0S (XL THH) 206,550 206,550 0
O=clsUliZA SXDISUH 24
7,650,000 +27H 2~ 206,550
< 61,965
Al 144,585
D2UHIOIHAZE S-19 HEX 2| 507,587 1,125,000 AB17,413
= 253,7%4
== 162,276
Al 101,517




SA ARSI
M HASE MBOIE KA (MBS IIZMEDE)
Celr MASS JI=MEory 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 507,587 1,125,000 AB17,413
= 253,7%4
== 152,276
Al 101,517
01 AR 2EHSHS(RNEXRTHE) 507,587 1,125,000 AB17,413
OZZULHHI0I A2 ES-19 HEXIAH| X2
507,587,000 x14] 507,587
= 253,7%4
== 162,276
Al 101,517
KA =X &5 L3t 3,173,912 3,313,433 139,521
= 494,651
[ 1,301,046
= 292,123
Al 1,086,092
KHEAL (XH2HHIET) 768,645 716,723 51,922
= 494,651
= 70,665
Al 203,329
307 elztol & 768,645 716,723 51,922
= 494,651
< 70,665
Al 203,329
10 AlRISTIAIEEE 22X 768,645 716,723 51,922
OXIixtedly 29 (2002) 706,645
cHIFNSXANBUEH(EEE)
9,130,000 * 104 2 369,130
= 258,391
& 36,913
Al 73,826
cHGHSAUXN AN SHE (HEEH)
337,515,000 100 £ 337,515
= 236,260
= 33,752
Al 67,503
OXSAX 2l 23 (XHA)
62,000,000 *14] 62,000
NSAX2dE 22 (X)) 4,500 4,500 0
307 212+01™ 4,500 4,500
10 Al2ISTIAEEE 22X 4,500 4,500
OIS TN2HE AR SU=
4,500,000 * 10 4 4,500
XSAX&dE 29(<Hl) 80,344 80,344 0
= 24,103




SA: MBS
M NASES Mol NJ(MIASK/OIZNEEH)
&elr XA =S gs Zst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 56,241
307 gl2tol & 80,344 80,344 0
=S 24,103
Al 56,241
10 Al SXA2EE 22X 80,344 80,344 0
OXNS e SAHLY SE+E
90,0003 x17E~12& 18,360
= 5,508
Al 12,852
OXNSA2HE KH2A2elAL X3
61,984,000 x14] 61,984
= 18,595
Al 43,389
Ol==Al At S XISH0LE AL 20,000 20,000 0
307 212+01™ 20,000 20,000
04 QIZHHAIAIRH E X 20,000 20,000
OAZI SIS0 AL XI&
20,000,000& *13] 20,000
Ntz 8N 28 XA 323,786 331,831 18,045
= 8,478
Al 315,308
201 eer23y| 38,500 38,500
01 AtR2t2|HI 38,500 38,500
Odgt==H| 13,500
oZHS NAAREHE N AtR2t2lH]
500,000& *279H 2 13,500
O=2g8+¢ 25,000
o5HS NIAREHE N =212 B4 =
E 25,000,000 * 14 25,000
301 EetE NS 13,500 13,500
11 #AIAHIXIE S 13,500 13,500
OS8sS KNGAI2HE2AM ALK
= 500,000& *27H 2 13,500
307 elztol & 271,786 235,831 35,955
= 8,478
Al 263,308
02 2B HAIHE & 107,000 120,000 213,000
Odi=st Uhsddl) 29
15,000,000 * 14 15,000
OXSAMSIEHEOAM 2IJ S2235}
12,000,000 * 14 12,000
Osizitet sl =X K@ ArZHI
80,000,000 * 14 80,000
03 P HHEE 22X 164,786 115,831 48,955




2A:

M NASES Mol NJ(MIASK/OIZNEEH)
&elr XA =S gs Zst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O AN ABI 2 & B ol 7l 22|
42,388,000 * 100 2 42,388
= 8,478
Al 33,910
O ==AINISARI 2 EAM 2SI (XHH)
122,398,000 * 14! 122,398
A2l =RIgelsl 249 X 40,000 40,000 0
= 8,000
Al 32,000
307 elztol & 40,000 40,000 0
= 8,000
Al 32,000
03 2N EE=2SHIE X 40,000 40,000 0
O ==AlAIISXIE el 23|
40,000,000 *1IH 2 40,000
=S 8,000
Al 32,000
T S HSAHE 78,000 70,000 8,000
< 13,600
Al 64,400
307 glztol & 78,000 70,000 8,000
= 13,600
Al 64,400
11 AMEISXAIEEXS 78,000 70,000 8,000
OJIRASS HEAE 78,000
oHST - ET-SEARFXIZ
34,000,000 *2JH 2 68,000
== 13,600
Al 54,400
oME - E+TEAMISXZH(XHA)
10,000,000 » 14 10,000
II‘E)ﬂ%%‘O" MBI MBIA SXAFE (DAL - 2t H 2K 378,572 473,275 N\94,703
A
[ 265,000
= 34,072
Al 79,500
308 AXIHMSOIA 378,572 473,275 A94,703
= 265,000
= 34,072
Al 79,500
11 SIS0t 4 A AS A 378,572 473,275 N94,703
OJtARYE SE2XIE A
378,572,000& x 14 378,572
= 265,000
< 34,072




SA ARSI
M HASE MBOIE KA (MBIZN/IIZMEDE)
&elr XA =S gs Zst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 79,500
KNSTHEE MaIMEIA EXAIS 1,427,151 1,523,844 96,693
[ 999,006
= 128,443
Al 299,702
201 er2 3| 1,400 1,400 0
[ 980
= 126
Al 2%
01 At2teltl 1,400 1,400 0
Odgr=al 1,400
oXNFAMMEIA EXNAME 2
1,400,0002 %12 1,400
[ 980
= 126
Al 294
202 04| 1,600 1,600 0
[ 1,120
= 144
Al 336
01 =LHOHI 1,600 1,600 0
ONAAIBIAEIA EXAIY HDEA
20,0003 22 »403] 1,600
[ 1,120
= 144
Al 336
308 AtXIEMSOIE 1,424,151 1,520,844 /96,693
[ 996,906
= 128,173
Al 299,072
1 SIS0t EAS A 1,424,151 1,520,844 96,693
ONGABIAEIA XA
1,424,151,000& *14] 1,424,151
[ 996,906
= 128,173
Al 299,072
NEXEE MSIMHIA SEXAI(HE DISAZ XA 52,914 52,916 N2
2)
[ 37,040
= 4,762
Al 1,112
308 AXIMSOIA 52,914 52,916 A2
= 37,040
& 4,762




ABI SR/ =MEEE)

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 11,112
1 S| 2SS SHASAIE 52,914 52,916 A2
OFHNISAHBRNFAIE
52,914,000 * 14| 52,914
[ 37,040
= 4,762
Al 11,112
A2IEXAE 28 X3 5,977,042 5,643,091 333,951
== 878,616
Al 5,008,426
SEA =X 28 K& 2,743,629 2,481,413 262,216
< 20,196
Al 2,723,433
201 Eer23 | 31,800 31,800
01 At2t2lt] 1,800 1,800
OSEARISA2 =51 &8 A22AR3
g 100,000 x99 »23] 1,800
02 S3=gHl 30,000 0 30,000
OZEAMaIEX 2 FAI B
30,000,000 *14! 30,000
307 212+01& 2,711,829 2,481,413 230,416
< 20,196
Al 2,691,633
05 21t =2 2,644,509 2,419,133 225,376
OAlz|=XI2 29 (40x) 2,644,509
oNSEE At S A2
727,658,000 * 100 £ 727,658
oictSE AR S A2
621,220,000 * 11 2 621,220
o2=SEAEI S
726,935,000 * 100 2 726,935
0| EEE AR =X
568,696,000 * 101 2 568,696
10 Al SXAIZEE 22X 67,320 62,280 5,040
OAtl= X2 SAHAF SE2+E 67,320
oNSEEAtEIF 2
1,530,000& «12& 18,360
= 5,508
Al 12,852
oACHEEALS S X2
1,320,000« 128 15,840
s 4,752
Al 11,088
o2+ ARSI
1,440,000& «12& 17,280




SA: MBS
M NASS Mol NJ(MISX/OIZNEEH)
e ARIEXAE 28 X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 5,184
Al 12,096
oD ESEAta S A2
1,320,000« 12& 15,840
= 4,752
Al 11,088
SEAR SN2 DIS2EZAE 150,000 272,000 122,000
401 AIEHIZ SR 0HYI 150,000 236,000 /86,000
01 Al&HI 148,650 234,125 A85,475
OACIEEAIRISR2 JIsEZAM(HI|H
ZH) 80,000,000& *99.10/100 79,280
ONSEEAEEX 2 JIsEL Ad(R2ll
A gledd) 70,000,0002+99.10/100 69,370
03 AIZSTHYI 1,350 1,875 Ab25
OACHEEAIRIEXZ JISsEZAIE (&I
Z2UH) 80,000,000& *0.90/100 720
ONEEEAEI=X2 JIsEL Ad(ell
A p|edd) 70,000,000& *0.90/100 630
=0l SXAIE 2E(&HI) 18,720 17,280 1,440
= 5,616
Al 13,104
307 gl2to| & 18,720 17,280 1,440
=S 5,616
Al 13,104
10 Al SXAZEE 22X 18,720 17,280 1,440
OL=0 SXAE EAL EE€ZH(S2LR) 18,720
S MBISXANZS XX
120,000& x4« 123 5,760
= 1,728
Al 4,032
oL NAST AKX
90,0002 x 12+ 122 12,960
== 3,888
Al 9,072
C=0SRAE 2H(HEAY) 852,804 709,990 142,814
S 852,804
307 @120l & 852,804 709,990 142,814
== 852,804
10 Al SXAIEEHE 22X 852,804 709,990 142,814
=0l SXAE 2H(32¥)
852,804,000 * 100 £ 852,804
S 852,804
=0l - A 22 3,200 3,200 0
307 elzto| & 3,200 3,200
01 22X &I 3,200 3,200




SA: MBS
M NASS Mol NJ(MISX/OIZNEEH)
Rl AlRISXIAIE 28 X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEERE=TEETIRE
3,200,000 *14] 3,200
ANBISRHME K (HEAY) 2,208,689 2,110,000 98,689
301 EtE2 NS 2,208,689 2,110,000 98,689
10 M=SRREES 2,208,689 2,110,000 98,689
OMIERME X2 (HEA)
2,208,689,000& x14] 2,208,689
Y 2AZHI(AFRISXID) (DIEH/DJIE} 650,643 441,208 209,435
= 31,030
s 196,002
S 26,549
Al 397,062
el 2E 504,933 295,498 209,435
= 31,030
= 196,002
[ 26,549
Al 251,352
el 24| 10,917 10,779 138
101 @124H| 10,917 10,779 138
03 SR (RINAHA) 222+ 10,917 10,779 138
OAlIRAZ 25 10,917
cIPHZ(TARHA)
16,2043 + 1 +20 A1 2t 1200 2 +150% 5,866
oIPAZ(AIRH)
14,0303 * 1 %20 A1 2++ 1200 2 +150% 5,051
SEAtel 22l At 12| 200,142 200,142 0
s 78,586
== 7,859
Al 113,697
101 e124d| 173,542 173,542 0
= 65,286
= 6,529
Al 101,727
03 SRA(RIH )22+ 173,542 173,542 0
OSEAHIZCIAL 2I24H] XIJA(Ex) 130,572
SP= 106, 150,000 * 14! 106,150
= 53,075
= 5,308
Al 47,767
oAZt2lE 19,922,000 * 14| 19,922
= 9,961
= 9%
Al 8,965
oA Xt 4,500,000 * 14 4,500




SA: ASIZXID
M HAPAZHI(ALZIZRID) (OIEH/DIE
chol: ol (19l @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,250
=S 225
Al 2,025
OSE At 22l At &1 4H] XI& (XEAI) 42,970
oJtEsd 140,000~ 12& 1,680
oXRrY 80,0002 x5 * 12 4,800
odI2=g JKts 50,0002 x3& 112 1,650
oXNgaY 12,000,000 * 14 12,000
o HASAH 130,000& x5~ 123 7,800
odIsd 3,640,000 *14] 3,640
cHESIHI 11,400,000 * 14 11,400
M4 HASFESS 26,600 26,600 0
[ 13,300
= 1,330
Al 11,970
04 SR (RIH)22N BEE=RES S 26,600 26,600 0
OSEAdIZ2A DELSES
2,600,000 %14 2,600
[ 1,300
= 130
Al 1,170
OSEAtdlZel At AHTHHES =
1,500,000 *14] 1,500
[ 750
= 75
Al 675
OSEAtdlZel At 221z
6,500,000 * 14 6,500
[ 3,250
= 325
Al 2,925
OSSABRIA €123
10,000,000 * 14! 10,000
= 5,000
= 500
Al 4,500
OSSAtdI2elAL =8AZ 2=
6,000,000 14 6.000
= 3,000
=S 300
Al 2,700
AHAZE2I LA O (B E+IHBI0IY 29) 4,800 4,800 0
= 2,400
Al 2,400




FA ASIS
3. A2 3HI(ARISXIL) (I1EHIIEH
Srel: QIS | (ehol:®el)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 4,800 4,800 0
= 2,400
Al 2,400
03 SRH(RINAHA) 222+ 4,800 4,800 0
O ALHI0IN S&a
4,800,000 14 4,800
[ 2,400
Al 2,400
A2 SAH 2CIUIOIE X - |4 21248| 92,928 79,777 13,151
= 31,030
Al 61,898
101 @124H| 79,748 67,158 12,590
= 28,024
Al 51,724
03 BRA(RIH ) 22U E > 79,748 67,158 12,590
OXESA ZUIUIOIH 21248] XI& 79,748
S==] 2,038,502 «2H 122 48,927
= 24,464
Al 24,463
&3 (FEFIHI)
2,446,308 x2H 4,893
= 1,500
Al 3,393
oS XHLE 500,000 x2H 1,000
= 500
Al 500
SE=E =] 130,000& x2&* 123 3,120
= 1,560
Al 1,560
oAZe2fg
19,0302 x2& *20A[ 2+ 123 9,135
oIESH 140,000 x1&* 122 1,680
oXNRrY 80,0003 x2& * 122 1,920
oXgsd 200,000 2F 122 4,800
odIsd 560,600 x2 2 +23] 2,243
oA Xt=g 101,492 x2&» 10 2,030
M4 HASFESS 13,180 12,619 561
= 3,006
Al 10,174
M SRH(RIAHL) 22N 2EERRES S 13,180 12,619 561
OX2SAH 2OUI0IH AtZI2EE 2 &1
3 13, 180
o=01013 1,625,000 %22 3,250
= 1,625




SA: ASIZXID
M HYAFHI(AIZI=X) (DIEHIIEH
ciel: olziedy| (B9 &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 1,625
SIS ESES, 2,500,000 »2H 5,000
= 1,381
Al 3,619
o30IAHAEHZ 1,450,000 x2Y 2,900
CcNEBPHRLD U MATNNSER
1,015,000 *2H 2,030
oSl 2&telAr CIA4b]| 196, 146 196, 146
= 115,016
& 18,690
Al 62,440
101 2124 d| 165,246 165,246
= 90,29%
& 14,673
Al 60,277
03 BRA(RIHL) 22X 165,246 165,246
O22Z 0 22IAF QIHHI(BX) 112,870
oJl2a 97,570,000 3 14| 97,570
= 78,056
& 12,684
Al 6,830
o AIZtRIE 15,300,000 14| 15,300
= 12,240
& 1,989
Al 1,071
o223 22l AF Q12| (XHAI) 52,376
oX@ag 80,0002 4% » 122 3,840
o ZAZAlH| 130,000& x4H 122 6.240
oXHXtg 110,000 *4Z*10 4,400
o HEZ DI 10,100,000 & 14| 10,100
oA2te|=E(Z1E)
82,0003 x4F 123 3,936
oRBAL 200, 0002 *424x 122} 9,600
o&dz=xg 6,100,000 * 14| 6,100
oEIFEINZ 50,0003 x4« 12& 2,400
cItESY 120,000& x4 123 5,760
303 ZAS 4,500 4,500
= 3,600
& 585
Al 315
02 4t 3 4,500 4,500
O 220 22IA SUANS(EAZ2)
1,500,000 *3H 4,500




FA ASIS
3. A2 3HI(ARISXIL) (I1EHIIEH
el el (B9 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,600
=S 585
Al 315
WM HsEE=S 26,400 0 26,400
= 21,120
= 3,432
Al 1,848
M BRA(RIAHSL) 22N BEEERE=s S 26,400 0 26,400
SEEEEEIEEIE
140,000 x4 x 122 6.720
= 5,376
= 874
Al 470
Qo230 EIXB0 Y2
200,000& x4E 12 9,600
= 7,680
=S 1,248
Al 672
Ool2B0IZEIA RUALLET
130,000& x4« 123 6,240
s 4,992
s 811
Al 437
O22s802cAt NEEEREs & &S
HEEE S 80,000 x4 * 122 3,840
= 3,072
== 49
Al 269
=3l 145,710 145,710 0
Jl=2&H] 145,710 145,710 0
201 er23 | 89,150 89,150 0
01 At2teltl 86,270 86,270 0
Ogt==ZH| SUAI&
36,902,000 x 14 36,902
O2g=g A 3,000,000 14| 3,000
O=sgtl S9AI& 46,368,000 14] 46,368
02 S5=24g4l 2,880 2,880 0
O=32= & MAl S9N
1,000,000 14| 1,000
Oxtg ety SHA &
1,880,0002 %14 1,880
202 04| 44,440 44,440
01 =LHOHI 44,440 44,440
SA2Y EHH A 44,440,000 21 %14] 44,440




A ABI= X0
N HNYSAHAH| (A =2XIDH (DIEHDIEH

29 Jl=3H (EH9): ®2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
203 PR F=&IY| 12,120 12,120
01 J| 222G RFA| 6,000 6,000
Osd=N=2% 6,000,000& 6,000
M FA2HHRFAHI 6,120 6,120 0
OAISIE X I E S 52H)
(400,000&+(5,000& *x22H ) ) 12& 6,120
MNEES(AISIS X D) (AMSISX]/FHAEHSKH) 4,521,491 4,591,510 A70,019
LHEHH K= 4,521,491 4,591,510 A70,019
LHEHHKI= 4,521,491 4,591,510 A70,019
701 J|IEISI HSHEEZ 4,461,491 4,531,510 A70,019
01 JIEt HEES 4,461,491 4,531,510 A70,019
O2A=2=IISELE3NH HES
4,461,491,000 * 14 4,461,491
TR IISEES 60,000 60,000
01 J132&8&E2 60,000 60,000
OM3I=RDIZ2 dEa(MASZ=RXEESE

23) 60,000,000& *14] 60,000




